85 x 53mm Extrusion (PM36)

M;i M10 x 25mm S/S Bolt

M10 S/S Washer
M10 S/S Spring Nut

F 4 x 50mm Tek Screw

/ 22mm Tek Screw
> .
PEC35 End Cap

[0]
Q

53
100

©
le)

600 CTRS TYP.

85

/' DRAWN BY: MA
MODELED BY: MA
CHECKED BY: BP/BDILK
DATE DRAWN: 13/08/2019
LAST SAVED: 13/08/2019
MATERIAL: Aluminium
FINISH: Mill

\TOLERANCES: | +0,-2.0;0.1°

Vionkeytoe

1
2.

3.

MKT CODE: MP008.XX

MAXIMUM IMPOSED LOADS

(PER M10 UNIT FIXING)

X: 3.0 kN
Y: 3.0 kN
Z: 4.0 kN

NOTES:

allowances and per M10 fixing.

bearer rails (PM36).

. 2X Mounting rails min. required per unit.
MAX. loads given are after seismic/wind

MIN 1x base fixing pair per unit fixing and
MIN 2x base fixing pairs per rail.
. All base fixings must be to platfrom deck

®'p11 201k UON AQ pareuBisap ey Jaylo Juasuod uanum Joud Inoyum ‘psfoid Jo asodind Aue 1oy pasn aq 1ou |jeys 3| ‘P11 s01keyuoln Jo Auadoid pue yyblAdoo ay st ubisap pareloosse pue Buimelp siyl

/

Unit Support Rail for Optimized Platform

N

MONKEYTOE GROUP

bwG No: 2004-ACSR

2004

SHEET 1 OF 2

faa)
N

A3

SCALE: 1:10

REV:03

\. DO NOT SCALE

DIMENSIONS IN MILLIMETERS

/




85 x 53mm Extrusion (PM36)

F4 X 50mm Tek Screw

M;i M10 x 25mm S/S Bolt

M10 S/S Washer
M10 S/S Spring Nut

/ 22mm Tek Screw
) .
PEC35 End Cap

— —0 —0 |
@ S
377(‘) Max 600 CTRS. — 600 CTRS. 370 Ma‘g
=1 = [
° &3
- - ol 1
I I |
/'DRAWN BY: MA
MODELED BY: | MA
CHECKEDBY: | BP/BDILK N / M) “NN
DATE DRAWN: | 13/08/2019 U \ |\ I,
LAST SAVED: 13/08/2019 P
MATERIAL: Aluminium
FINISH: Mill
\OLERANCES: | +0,-2.0;0.1°

MAXIMUM IMPOSED LOADS

(PER M10 UNIT FIXING)

X: 3.0 kN
Y: 3.0 kN
Z: 6.0 kN

NOTES:

1. 2x Mounting rails min. required per unit.
2. MAX. loads given are after seismic/wind
allowances and per M10 fixing.
3. MIN 1x base fixing pair per unit fixing and
MIN 2x base fixing pairs per rail.
4. All base fixings must be to platfrom deck

bearer rails (PM36).

®'p11 201k UON AQ pareuBisap ey Jaylo Juasuod uanum Joud Inoyum ‘psfoid Jo asodind Aue 1oy pasn aq 1ou |jeys 3| ‘P11 s01keyuoln Jo Auadoid pue yyblAdoo ay st ubisap pareloosse pue Buimelp siyl

/

Unit Support Rail for Optimized Platform

N

MONKEYTOE GROUP

DWG No: 2004-ACSR

2004

faa)
N

— |
—]

SHEET 2 OF 2

A3

SCALE: 1:8

REV:03

\. DO NOT SCALE

DIMENSIONS IN MILLIMETERS

/




